Solve all exercises. Staple them to this sheet.

1.

3.

(@)

Perform the indicated operations and simplify:
(@) =5(7-2)+6(-1)°-7(-6+4)*-6-(5-8)

(b) 6x& 7+ X"+ €3X K+17°-3€+1{x—1) + (x* +2)°
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@ a0+(-3[ 353 )42 +(373)

(6) 4x*44 + 3" 5X€+13+ 2x— 4+ 3%°

Factor completely:

(a) 8 (d) x* +6x—27
(b) x* +7x+10 (e) 4x® —20x* —24x

(¢) x* +9x* —10x

Factor and simplify:

X2 —x—2 .x2+4x—5; x® +3x-10
2% +4x%7 —6x  x*—1  3x>+18x+27

X +3x—-4 3x*-12x  9x* -36
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. Solve the following equations:

(a) —3€—3x +3€x—2 =-3x—5x
~12
(b) - @x+3 3 4€x+1 ) 3x=-2x+43+5x

(c) —4x*+400=0
(d) x*-11=67

(e) 2x* —=3x—-5=0
(f) 8x*+7-15=-7
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